# CONFIDENTIAL

KANSAS CORPORATION COMMISSION
OIL & GAS CONSERVATION DIVISION
Form Must Be Typed
Form must be Signed
All blanks must be Filled

### **WELL HISTORY - DESCRIPTION OF WELL & LEASE**

OPERATOR: License # 4767	API No. 15 - 109-21054-00-00
Name: Ritchie Exploration, Inc.	Spot Description: 130' N & 100' W of
Address 1: P.O. Box 783188	E/2_sw/4 Sec. 13 Twp. 13 S. R. 32 ☐ East  West
Address 2:	1,450 Feet from North / South Line of Section
City: Wichita State: KS Zip: 67278 + 3188	1,880 Feet from East / V West Line of Section
Contact Person: John Niemberger	Footages Calculated from Nearest Outside Section Corner:
Phone: ( 316 ) 691-9500	
, , , , , , , , , , , , , , , , , , , ,	□ NE □ NW □ SE ☑ SW
CONTRACTOR: License # 30606	County: Logan
Name: Murfin Drilling Co., Inc	Lease Name: Eaton 13CD Well #: 1
Wellsite Geologist: Jeff Christian	Field Name:
Purchaser:	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 2949 Kelly Bushing: _2959
✓ New Well	Total Depth: 4715 Plug Back Total Depth:
☐ Oil ☐ wsw ☐ swd ☐ slow	Amount of Surface Pipe Set and Cemented at: 236 Feet
☐ Gas 🗸 D&A 🔲 ENHR 🔲 SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
☐ OG ☐ GSW ☐ Temp. Abd.	If yes, show depth set: Feet
CM (Coal Bed Methane)	If Alternate II completion, cement circulated from:
Cathodic Other (Core, Expl., etc.):	feet depth to:w/sx cmt.
If Workover/Re-entry: Old Well Info as follows:	on other
Operator:	
Well Name:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	
Deepening Re-perf. Conv. to ENHR Conv. to SWD	Chloride content: 15000 ppm Fluid volume: 900 bbls
Conv. to GSW	Dewatering method used: evaporation
Plug Back: Plug Back Total Depth	Location of fluid disposal if hauled offsite:
Commingled Permit #:	Operator Name:
Dual Completion Permit #:	Lease Name: License #:
SWD Permit #:	
ENHR Permit #:	Quarter Sec TwpS. R
GSW Permit #:	County:Permit #:
12/10/11 12/19/11 12/19/11	CONFIDENTIAL
Spud Date or Date Reached TD Completion Date or Recompletion Date	MAR 2 1 2014
INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workover or co of side two of this form will be held confidential for a period of 12 months if req	onversion of a well. Rule 82-3-130, 023 106 and 82-3-107 apply. Information guested in writing and submitted with the form (see rule 82-3-107 for confiden-
tiality in excess of 12 months). One copy of all wireline logs and geologist we BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 for	
AFFIDAVIT	KCC Office Use ONLY
I am the affiant and I hereby certify that all requirements of the statutes, rules and r	
lations promulgated to regulate the oil and gas industry have been fully complied and the statements herein are complete and conject to the best of my knowledge	("""   num 2 21112 ~ 3 2111U
	Confidential Release Date: MAN & Z ZUIZ
Signature:	Wireline Log Received
	Wireline Log Received Geologist Report Received UIC Distribution ALT
Title: Production Manager Date: 3/21/12	ALT

### Side Two

Operator Name: Ritc	hie Exploration, In	ıc.	Lease N	<sub>lame:</sub> E	aton 13CD		Well #;1_		
Sec. 13 Twp.13	s. R. <u>32</u>	☐ East 🗸 West	County:	Logan					
time tool open and clos	sed, flowing and shut- s if gas to surface test	base of formations per in pressures, whether s t, along with final chart( well site report.	hut-in press	ure reach	ned static level	, hydrostatic p	ressures, bottom l	hole tempei	rature, fluid
Drill Stem Tests Taken (Attach Additional S.	heets)	✓ Yes No		Log	Formatio	n (Top), Depti	n and Datum	<b>√</b> Sa	•
Samples Sent to Geolo	ogical Survey	✓ Yes   ☐ No		Name			Тор	Da	atum
Cores Taken Electric Log Run Electric Log Submitted (If no, Submit Copy)	•	Yes No Yes No Yes No			SEE	ATTACHED			
List All E. Logs Run: Dual Induction L Compensated D	_	Log							
			RECORD	✓ New		i			
Purpose of String	Size Hole Drilled	Report all strings set- Size Casing Set (In O.D.)	Weigh	ht	Setting Depth	Type of Cement	# Sacks Used		d Percent
Surface		8-5/8"	23#		236'	common	175	3% cc, 2	
			ļ <u>.</u>						
		ADDITIONAL	CEMENITIN	IC ( SOUE	EZE DECORD				PIE NIL
Purpose: Perforate	Depth Top Bottom	Type of Cement	# Sacks t		EZE RECORD		nd Percent Additives	,	
Protect Casing Plug Back TD Plug Off Zone									
			<u> </u>				·	·	
Shots Per Foot		N RECORD - Bridge Plug ootage of Each Interval Per				cture, Shot, Cer mount and Kind o	ment Squeeze Recor of Material Used)	rd	Depth
									<del></del> -
							· · · · · · · · · · · · · · · · · · ·		
								-	
							<del></del>		
TUBING RECORD:	Size:	Set At:	Packer At:		Liner Run:	Yes	No		
Date of First, Resumed F	Production, SWD or ENH	R. Producing Met	hod:	ı []G	CONFIL CONFIL	DENTIAL.			
Estimated Production Per 24 Hours	Oil Bi	bls. Gas	Mcf	Water	MAR 2	bls. Zują	Gas-Oil Ratio		Gravity
					K	CC			
DISPOSITIO	N OF GAS:  Used on Lease	l	METHOD OF (	COMPLET  Dually C		mmingled	PRODUCTA	ON INTERVA	ıL:
(If vented, Subr	_	Other (Specify)		(Submit AC		mit ACO-4)		RE	CEIVET

Mail to: KCC - Conservation Division, 130 S. Market - Room 2078, Wichita, Kansas 67202

MAR 2 2 2012



### #1 Eaton 13CD

1450' FSL & 1880' FWL 130' N & 100' W of E/2 SW/4 Section 13-13S-32W Logan County, Kansas API# 15-109-21054-0000

Elevation: 2949' GL: 2959' KB

Sample Tops         Well           Anhydrite         2456' +503 +7           B/Anhydrite         2477' +482 +7           Heebner         3942' -983 -14           Toronto         3971' -1012 -16           Lansing         3988' -1029 -19           LKC "C"         4028' -1069 -20           Muncie Shale         4126' -1167 flat           LKC "H"         4141' -1182 +1           LKC "J"         4194' -1235 -5           Stark Shale         4214' -1255 -2           LKC "K"         4227' -1268 -3           Hush.         4248' -1325 -1           BKC         4284' -1325 -1           Marmaton         4306' -1347 +7           Altamont         4306' -1347 +7           Altamont         4326' -1367 +4           Pawnee         4414' -1455 -5           Myrick         4451' -1492 -3           Fort Scott         4466' -1507 -2           Cherokee Shale         4496' -1537 -2           Johnson         4539' -1580 +1           Morrow Sand         Absent           Mississippian         4590' -1631 +12           4715' -1756				Ref.
B/Anhydrite       2477'       +482       +7         Heebner       3942'       -983       -14         Toronto       3971'       -1012       -16         Lansing       3988'       -1029       -19         LKC "C"       4028'       -1069       -20         Muncie Shale       4126'       -1167       flat         LKC "H"       4141'       -1182       +1         LKC "J"       4194'       -1235       -5         Stark Shale       4214'       -1255       -2         LKC "K"       4227'       -1268       -3         Hush.       4248'       -1289       -1         BKC       4284'       -1325       -1         Marmaton       4306'       -1347       +7         Altamont       4326'       -1367       +4         Pawnee       4414'       -1455       -5         Myrick       4451'       -1492       -3         Fort Scott       4466'       -1507       -2         Cherokee Shale       4496'       -1537       -2         Johnson       4539'       -1580       +1         Morrow Sand       Absent <td>Sample Tops</td> <td></td> <td></td> <td>Well</td>	Sample Tops			Well
Heebner       3942'       -983       -14         Toronto       3971'       -1012       -16         Lansing       3988'       -1029       -19         LKC "C"       4028'       -1069       -20         Muncie Shale       4126'       -1167       flat         LKC "H"       4141'       -1182       +1         LKC "J"       4194'       -1235       -5         Stark Shale       4214'       -1255       -2         LKC "K"       4227'       -1268       -3         Hush.       4248'       -1289       -1         BKC       4284'       -1325       -1         Marmaton       4306'       -1347       +7         Altamont       4326'       -1367       +4         Pawnee       4414'       -1455       -5         Myrick       4451'       -1492       -3         Fort Scott       4466'       -1507       -2         Cherokee Shale       4496'       -1537       -2         Johnson       4539'       -1631       +12	Anhydrite	2456'	+503	+7
Toronto 3971' -1012 -16 Lansing 3988' -1029 -19 LKC "C" 4028' -1069 -20 Muncie Shale 4126' -1167 flat LKC "H" 4141' -1182 +1 LKC "J" 4194' -1235 -5 Stark Shale 4214' -1255 -2 LKC "K" 4227' -1268 -3 Hush. 4248' -1289 -1 BKC 4284' -1325 -1 Marmaton 4306' -1347 +7 Altamont 4326' -1367 +4 Pawnee 4414' -1455 -5 Myrick 4451' -1492 -3 Fort Scott 4466' -1507 -2 Cherokee Shale Johnson 4539' -1580 +1 Morrow Sand Mississippian 4590' -1631 +12	B/Anhydrite	2477'	+482	+7
Lansing       3988'       -1029       -19         LKC "C"       4028'       -1069       -20         Muncie Shale       4126'       -1167       flat         LKC "H"       4141'       -1182       +1         LKC "J"       4194'       -1235       -5         Stark Shale       4214'       -1255       -2         LKC "K"       4227'       -1268       -3         Hush.       4248'       -1289       -1         BKC       4284'       -1325       -1         Marmaton       4306'       -1347       +7         Altamont       4326'       -1367       +4         Pawnee       4414'       -1455       -5         Myrick       4451'       -1492       -3         Fort Scott       4466'       -1507       -2         Cherokee Shale       4496'       -1537       -2         Johnson       4539'       -1580       +1         Morrow Sand       Absent         Mississippian       4590'       -1631       +12	Heebner	3942'	-983	-14
LKC "C" 4028' -1069 -20  Muncie Shale 4126' -1167 flat  LKC "H" 4141' -1182 +1  LKC "J" 4194' -1235 -5  Stark Shale 4214' -1255 -2  LKC "K" 4227' -1268 -3  Hush. 4248' -1289 -1  BKC 4284' -1325 -1  Marmaton 4306' -1347 +7  Altamont 4326' -1367 +4  Pawnee 4414' -1455 -5  Myrick 4451' -1492 -3  Fort Scott 4466' -1507 -2  Cherokee Shale 4599' -1580 +1  Morrow Sand Absent  Mississippian 4590' -1631 +12	Toronto	3971'	-1012	-16
Muncie Shale       4126'       -1167       flat         LKC "H"       4141'       -1182       +1         LKC "J"       4194'       -1235       -5         Stark Shale       4214'       -1255       -2         LKC "K"       4227'       -1268       -3         Hush.       4248'       -1289       -1         BKC       4284'       -1325       -1         Marmaton       4306'       -1347       +7         Altamont       4326'       -1367       +4         Pawnee       4414'       -1455       -5         Myrick       4451'       -1492       -3         Fort Scott       4466'       -1507       -2         Cherokee Shale       4496'       -1537       -2         Johnson       4539'       -1580       +1         Morrow Sand       Absent         Mississippian       4590'       -1631       +12	Lansing	3988'	-1029	-19
LKC "H" 4141' -1182 +1  LKC "J" 4194' -1235 -5  Stark Shale 4214' -1255 -2  LKC "K" 4227' -1268 -3  Hush. 4248' -1289 -1  BKC 4284' -1325 -1  Marmaton 4306' -1347 +7  Altamont 4326' -1367 +4  Pawnee 4414' -1455 -5  Myrick 4451' -1492 -3  Fort Scott 4466' -1507 -2  Cherokee Shale 4496' -1537 -2  Johnson 4539' -1580 +1  Morrow Sand Absent  Mississippian 4590' -1631 +12	LKC "C"	4028'	-1069	-20
LKC "J"       4194"       -1235       -5         Stark Shale       4214"       -1255       -2         LKC "K"       4227'       -1268       -3         Hush.       4248"       -1289       -1         BKC       4284"       -1325       -1         Marmaton       4306"       -1347       +7         Altamont       4326"       -1367       +4         Pawnee       4414"       -1455       -5         Myrick       4451"       -1492       -3         Fort Scott       4466"       -1507       -2         Cherokee Shale       4496"       -1537       -2         Johnson       4539"       -1580       +1         Morrow Sand       Absent         Mississippian       4590"       -1631       +12	Muncie Shale	4126'	-1167	flat
Stark Shale       4214'       -1255       -2         LKC "K"       4227'       -1268       -3         Hush.       4248'       -1289       -1         BKC       4284'       -1325       -1         Marmaton       4306'       -1347       +7         Altamont       4326'       -1367       +4         Pawnee       4414'       -1455       -5         Myrick       4451'       -1492       -3         Fort Scott       4466'       -1507       -2         Cherokee Shale       4496'       -1537       -2         Johnson       4539'       -1580       +1         Morrow Sand       Absent         Mississippian       4590'       -1631       +12	LKC "H"	4141'	-1182	+1
LKC "K"       4227'       -1268       -3         Hush.       4248'       -1289       -1         BKC       4284'       -1325       -1         Marmaton       4306'       -1347       +7         Altamont       4326'       -1367       +4         Pawnee       4414'       -1455       -5         Myrick       4451'       -1492       -3         Fort Scott       4466'       -1507       -2         Cherokee Shale       4496'       -1537       -2         Johnson       4539'       -1580       +1         Morrow Sand       Absent         Mississippian       4590'       -1631       +12	LKC "J"	4194'	-1235	-5
Hush.       4248'       -1289       -1         BKC       4284'       -1325       -1         Marmaton       4306'       -1347       +7         Altamont       4326'       -1367       +4         Pawnee       4414'       -1455       -5         Myrick       4451'       -1492       -3         Fort Scott       4466'       -1507       -2         Cherokee Shale       4496'       -1537       -2         Johnson       4539'       -1580       +1         Morrow Sand       Absent         Mississippian       4590'       -1631       +12	Stark Shale	4214'	-1255	-2
BKC 4284' -1325 -1  Marmaton 4306' -1347 +7  Altamont 4326' -1367 +4  Pawnee 4414' -1455 -5  Myrick 4451' -1492 -3  Fort Scott 4466' -1507 -2  Cherokee Shale 4496' -1537 -2  Johnson 4539' -1580 +1  Morrow Sand Absent  Mississippian 4590' -1631 +12	LKC "K"	4227'	-1268	-3
Marmaton       4306'       -1347       +7         Altamont       4326'       -1367       +4         Pawnee       4414'       -1455       -5         Myrick       4451'       -1492       -3         Fort Scott       4466'       -1507       -2         Cherokee Shale       4496'       -1537       -2         Johnson       4539'       -1580       +1         Morrow Sand       Absent         Mississippian       4590'       -1631       +12	Hush.	4248'	-1289	-1
Altamont 4326' -1367 +4  Pawnee 4414' -1455 -5  Myrick 4451' -1492 -3  Fort Scott 4466' -1507 -2  Cherokee Shale 4496' -1537 -2  Johnson 4539' -1580 +1  Morrow Sand Absent  Mississippian 4590' -1631 +12	BKC	4284'	-1325	-1
Pawnee       4414'       -1455       -5         Myrick       4451'       -1492       -3         Fort Scott       4466'       -1507       -2         Cherokee Shale       4496'       -1537       -2         Johnson       4539'       -1580       +1         Morrow Sand       Absent         Mississippian       4590'       -1631       +12	Marmaton	4306'	-1347	+7
Myrick       4451'       -1492       -3         Fort Scott       4466'       -1507       -2         Cherokee Shale       4496'       -1537       -2         Johnson       4539'       -1580       +1         Morrow Sand       Absent         Mississippian       4590'       -1631       +12	Altamont	4326'	-1367	+4
Fort Scott 4466' -1507 -2 Cherokee Shale 4496' -1537 -2 Johnson 4539' -1580 +1 Morrow Sand Absent Mississippian 4590' -1631 +12	Pawnee	4414'	-1455	-5
Cherokee Shale       4496'       -1537       -2         Johnson       4539'       -1580       +1         Morrow Sand       Absent         Mississippian       4590'       -1631       +12	Myrick	4451'	-1492	-3
Johnson       4539'       -1580       +1         Morrow Sand       Absent         Mississippian       4590'       -1631       +12	Fort Scott	4466'	-1507	-2
Morrow Sand Absent Mississippian 4590' -1631 +12	Cherokee Shale	4496'	-1537	-2
Mississippian 4590' -1631 +12	Johnson	4539'	-1580	+1
1.1	Morrow Sand	Absent		
RTD 4715' -1756	Mississippian	4590'	-1631	+12
	RTD	4715'	-1756	

CONFIDENTIAL MAR 2 1 2014 RECEIVED
MAR 2 2 2012
KCC WICHITA

(316) 691-9500 Fax (316) 691-9550 rei@ritchie-exp.com

### ALLIED CEMENTING CO., LLC. 036052

REMIT TO P.O. B	BOX 31 SELL, KAN	SAS 6766	55					SERV	ICE POINT:	
	<b>, ,</b>		_						Signe	<del></del>
DATE IA/CO/Y	SEC	TWP.	RANGE		CALLED	оит	ON L	OCATION	JOB START	JOB FINISH
LEASE ENTON	WELL#	300#1		Dolla	135	IE!	, ( 6	A NOO	COUNTY	STATE
OLD OR NEW (Ci		100	LOCAIR	NOME	_ 17/	11/1	<del>-7 /</del>	VINO	Jun	170
			.I.						J	
CONTRACTOR					1WO	NER _	me	<u></u>		
HOLE SIZE	- 5415-20 111	T.D.			- CEA	MENT				
CASING SIZE	8578		тн 2}	,	_		RDEREI	125	ca- 32	occ
TUBING SIZE		DEF						20	Inl	
DRILL PIPE		DEF	TH							
TOOL	· · .		TH			y	150	•	1.25	a 25
PRES. MAX MEAS. LINE			<u>VIMUM</u> DE JOINT		_ COM POZ	MON_/ MIY	()		_@16 <u>23</u>	2093-
CEMENT LEFT IN	N CSG.	75 13n	<u> </u>		_ FOZ.	_	2	<del></del>	-@ <del>25</del>	7575
PERFS.	, x.o				_	ORIDE	6		@ 52000	345 20
DISPLACEMENT		14.2	6 88	LHD	ASC	_			@	
	<sup>į</sup> EQ̇̀UI	IPMENT		0					_@	
	•		,,						_@	
PUMPTRUCK	CEMENTE	ER	a .						_@ @	
	HELPER	To	my		_				_	
BULK TRUCK	5	0	_ 1	•						
# 347 BULK TRUCK	DRIVER		anden					·	_@	
	DRIVER						1011	<i>CII</i> .	- @ <del>- 15</del> -	4111 603
č						IDLING EAGE <b>//</b>			_@	303-602
à	DEA	1ARKS:			MIL	EAGE	<del>4-7/4</del> /	m		35000
000	. 1 -R	Anna:	0	Displa	,				TOTAL	2121
M. Cog, Cil	renew Co.	mix C	mont	# 5f/s	14			SERVI	CIF.	
ament.					- —			SERVI	CE	
	4				_ _ Dep	TH OF I	ов :		23	9,2
Coment Dia	<u>l</u>	<u>Cismla</u>	ttr			IP TRUC		RGE		11250
						RA FOO			_@	
	T2 KY			. 1.		EAGE			_@ <u></u>	105
· · · · · · · · · · · · · · · · · · ·	1	Hay Fer	<del>7-180</del> 0			VIFOLD.			-@ 4-00	6000
					4	COGICE	4 <u>.</u>		- @ <del>-7</del>	
CHARGE TO:	train	EI	landia	) <del></del> .					_ ~	
CHARGE TO: K			MI AND SE	<del></del>					TOTAL	129000
STREET										
CITY	SŤA	ATE	<u></u> Z	IP	<u> </u>		PELIC	& RI OA'	Г ЕQUІРМЕ	NT :
		•	ï		,		ILUG	W FLOA	LEQUITALE	. 7.1
	Y.				<del></del>					
	1				1.					
To Allied Cemen	tina Co. I	I.C	•						@	
You are hereby re			nentino e	auinment		-,				
and furnish ceme	enter and h	elper(s) t	o assist o	wner or	٠				_@	
contractor to do										•
done to satisfacti								٠ .	TOTA	L
contractor. I hav	e read and	understa	nd the "C	SENERAL		D0 @+ **	/16 ± .		:	
TERMS AND CO	ONDITIO	NS" listed	d on the r	everse side	e. SAL	ES TAX	(It Any)	)		<del> </del>
· · · · · · · · · · · · · · · · · · ·	1				TOT	AL CHA	RGES_			<del>_</del>
PRINTED NAME	Corse	11 sice	<u>ا</u>		_ DIS	COUNT	<u>.</u>		IF PA	ID IN 30 DAYS
THE THE PARTY OF T	1,1	التنتسانية التي التي التي التي التي التي التي التي		٠.		C	ONFI	DENTIA	<u> </u>	IL II. SO DAILO
	lin-	, /	<b>/</b> 1					a . n.	-	_

KCC

RECEIVED MAR 2 2 2012 KCC WICHITA

## ALLIED CEMENTING CO., LLC. 036052

REMIT TO P.O. BOX 31		SERVICE POINT:
RUSSELL, KANSAS 67665		Olkley
OFG TWO	CALLED OUT ON LO	CATION LODGE THE
DATE 12/10/4 SEC TWO RANGE	CALLED OUT ON LO	CATION JOB START JOB FINISH
<b>★</b>		COUNTY STATE
LEASE Eaton WELL # 13 CO / LOCATION Oakle	135 IE 125 50	THO Legan RS
OLD OR NEW (Circle one)		
	<del></del>	·••
CONTRACTOR MONE N 14	OWNER Some	•
TYPE OF JOB. Surful	OWINER	<u> </u>
HOLE SIZE 1211 T.D.	CEMENT	
		175 con 390cc
	AMOUNT ORDERED	175 600
UBING SIZE DEPTH	<del>_</del>	or light
DRILL PIPE DEPTH		
OOL DEPTH	- 120	1128 01 - 25
RES. MAX MINIMUM	COMMON_ <u>/ / / )</u>	@ 1625 254325
IEAS. LINE SHOE JOINT	POZMIX	—— <sup>@</sup> — <del>25</del> —7.25—
EMENT LEFT IN CSG. 15"	GEL	@2/65
ERFS.	CHLORIDE	@ <i>53</i> 223 <u>47</u>
DISPLACEMENT 14-26 MOLHS	ASC	
EQUIPMENT		@
		@
Was a service of the	<del>_</del>	@
UMPTRUCK CEMENTER	_	@
423-28 HELPER Tem	_	@
BULK TRUCK		@
34) DRIVER Brands	<u></u>	· . @
ULK TRUCK		@
- DRIVER	— HANDLING 184 5	
	MILEAGE//4 SK/	303-60
;	MILEAGE/14 JIA/	2000
REMARKS:	,	TOTAL 3377
Can Cirulate Mix coment & spl	gie	
	<u>-</u>	SERVICE
ament.		
	DEPTH OF JOB	239.2
ement Did Compate	PUMP TRUCK CHAR	GE 1/2
	EXTRA FOOTAGE	@
30 Marie 1990	MILEAGE 15_	@ 7.8 105
Taken - 1 da	— MANIFOLD	
Alan Terry 10 res	Etellhide 15	@ 4º 60 Es
	to to think 1)	× <del>/</del>
0116611		
CHARGE TO: R. Tchie Exploration		,
		TOTAL (290
TREET	<del></del>	
CITYSTATEX_ZIP		
	PLUG (	& FLOAT EQUIPMENT
•	<b>*</b>	
. `		., @ ./
$\mathcal{A}_{\mathcal{A}}}}}}}}}}$	-\	
To Allied Cementing Co., LLC.		@
You are hereby requested to rent cementing equipment		
and furnish cementer and helper(s) to assist owner or		
contractor to do work as is listed. The above work wa		
lone to satisfaction and supervision of owner agent or		TOTAL
contractor. I have read and understand the "GENERA		
	CALEGRAN (ICA)	· · · · · · · · · · · · · · · · · · ·
TERMS AND CONDITIONS" listed on the reverse sid	de.	* <u>*</u> .
and the state of t	TOTAL CHARGES _	<u> </u>
Brea 11 = 1	P. 1 P. 2	; 
SIGNATURE LARGE LINGUAL	DISCOUNT	IF PAID IN 30 DAYS
1		CONFIDENTIAL
SIGNATURE SALA Chouh		TIME
ANNOUNCE A STATE CARTIAL .		444-1/11

RECEIVED MAR 2 2 2012 KCC WICHITA

The state of the s	n de la companya del companya de la companya del companya de la companya del la companya de la c	n en general de la la seguier de l'entre de la companya de la companya de la companya de la companya de la comp Habilità de la Companya de la compa
AL JED CEMEN	ITING CO., LLC. 035193	
ALL DOLIVE	033133	ಎಲ್ಲಾ ಕ್ರೀಡ್ ಕ್ರಿಸ್ ಕ್ರೀಡ್ ಕ್ರೀಡ್ ಗ್ರಾಪ್ತ ಸಂಕರ್ಣ ಗಳುಗಳು, ಹರಗಳ ಗ್ರಾಪ್ ಸರ್ವಾಪ್ ಸ್ಥಾಪ್ ಕ್ರೀಡ್ ಕ್ರೀಡ್ ಕ್ರೀಡ್ ಕ್ರೀಡ್ ಕ್ರೀಡ್ ಸ್ಟ್ರಾಲ್ ಸ್ಟ್ರಾನ್ ಸ್ಟ್ರಾ ಕ್ರೀಡ್ ಸಂಕರ್ಣಕ್ಕೆ ಕ್ರೀಡ್ ಸ್ಟ್ರಾನ್ ಕ್ರೀಡ್ ಸ್ಟ್ರಾ
REMIT TO P.O. BOX 31	SERVICE POINT:	Andrew S. Proc. Communication and American Residence of the Communication of the Communicatio
RUSSELL, KANISAS 67665	RUSSELL	
DATE 1/2-19-11 SEC. TWP. 5 RANGE C	ALLED OUT ON LOCATION JOB START JOB FINISH	• •
THE	COLINITY STATE	
LEASE EATON WELL# 13 Ed#   LOCATION BAKIEY-	135-15-125-FINTO LOGAN KS	
	. :	
TYPE OF JOB DIA	OWNER	
HOLE SIZE 778 T.D.	CEMENT 2208/5 Cade	
CASING SIZE \$15 DEPTH 239 TUBING SIZE DEPTH	AMOUNT ORDERED 49, Get 1 14 Flo Seal	!
DRILL PIPE 41/2 DEPTH 2460	-	
TOOL DEPTH PRES. MAX MINIMUM	COMMON /32 @ 16.25 2145 00.	
MEAS. LINE SHOE JOINT	POZMIX <u>88</u> @ <u>8.50</u> <u>748 </u>	
CEMENT LEFT IN CSG. PERFS.	GEL 8 9 0 21,25 1707 CHLORIDE @	·······
DISPLACEMENT	ASC	
EQUIPMENT	\$10 SEAL 55 @ 2.70 148.50	
PUMPTRUCK CEMENTER Bab SmiTH	@	
# 409 HELPER TOdd		
BULK TRUCK # 347 DRIVER BRANdow		
# 347 DRIVER ISUANDON BULK TRUCK		
# DRIVER	HANDLING 230 @ 2.25 5/16.5% MILEAGE (5× 230 × 1/1 379.50	•
REMARKS:	4/08 50	
REMARKS.	, IOIAL TIONS	
P1-2460FT-255K	SERVICE	
92-1400 FT-100 SK 93-290 FT-40 SK	DEPTH OF JOB 2460	ļ
PY-40PT-10SK	PUMP TRUCK CHARGE 1250-55	•
RAT - 30. SK	MILEAGE /S @ 72 105 00	
moust - 15 SK	MANIFOLD. @	
	Lau milleage 15 @ 400 6000	
CHARGE TO: RITCHIE EXPLORATION		
STREET	TOTAL 1415 00	
CITYSTATEZIP	1	
	PLUG & FLOAT EQUIPMENT	
	1 wooden Plu6: @ 9200 9200	
	<u> </u>	
To Allied Cementing Co., LLC.		
You are hereby requested to rent cementing equipment and furnish cementer and helper(s) to assist owner or		
contractor to do work as is listed. The above work was	TOTAL 9200	
done to satisfaction and supervision of owner agent or contractor. I have read and understand the "GENERAL		
TERMS AND CONDITIONS" listed on the reverse side.	SALES TAX (If Any)	RECEIVED
$A \sim 1$	TOTAL CHARGES _56/5.50	'ATOEIVED
PRINTED NAME CORZO Christel	DISCOUNT IF PAID IN 30 DAYS	MAR 2 2 2012
Luca I lucal		
SIGNATURE A.E. S.	CONFIDENTIAL	KCC WICHITA
/	MAR 2 1 2019	·
	man C 1, CO14	
	KCC	412